Quiz 4 - Math221 - Sec 203 Feb 7, 2017
Name: Student number:

No books. No notes. No calculator. No electronic device of any kind.

1. (2 points) Show if AB is invertible, then B is also invertible.

A\% 'S invevtf.ble: (96)"
WiBB)= T > (wa)B =) <> B mwertible (2)

2. (4 points) An argument in form of "if <statement 1> then <statement 2>” is an implica-
tion. It means that if <statement 1> is true then <statement 2> is also always true. Determine
if the following implications are true or false. If it is true, justify your answer. If it is false, find
a counterexample where <statement 1> is true but <statement 2> is false. For all implications,
A is a n X n matrix.

1. If the columns of A span R™, then the columns are linearly independent. _‘_

2. If the equation Az = 0 has only the trivial solution, then the A is row equivalent to the
identity matrix.

3. If the equation Az = 0 is consistent, then it has a unique solution. -

4. If A is the standard matrix corresponding to a linear transformation which is one-to-one,
then A is invertible. T}
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